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= 53 CH It H
2E2ENEH2ABE
2 bl e 2yl g 2
33 A *g | o9 HI 22
e It 3 o & o) 3 o @ | = o & o) =

ZEYDYHABY (H1100xW2000) & X BAH"Z21'Y (H0IZYH)

21012 43 M20X240 4 EA 7,200 28,800 28,800

BENE ©165.2x4.51x990 1| = 463,900 463,900 463,900

T ©165.28 1| EA 6,900 6,900 6,900

p[ELTEN 200x100x9t 1| EA 52,600 52,600 52,600

JIESA DI [200x1008 1] set 6,500 6,500 6,500
waj 150x3.2tx4330 s 164,000 164,000 164,000

S ©38.1x1.5%x870 10| EA 26,500 265,000 265,000

S22 ©38.18 10| EA 300 3,000 3,000

B2 B/N 5/8x200 1| EA 2,300 2,300 2,300

32Dy B/N 5/8x25 1| EA 900 900 900

Bl2eiZ B/N 5/8x38 2| EA 900 1,800 1,800

SYADH BN [M8X60 20| EA 900 18,000 18,000

& H (RIZH) 1,013,700 1,013,700

ERE aters 0.016 | ¢ 212,500 3,400 212,500 3,400 |NAE AESBEB LIS ASE) RS

' CELE 0.150 | @l 219,321 32,898 219,321 32,808 |Niif HEmuns Ballimnans) Py
” EERE 0.300 | ¢! 167,081 50,124 167,081 50,124 200 M SN Sa(HEAERE) P.TI6

Ancy 1 inch 0.032 | hr - 437 13 437 13 | B e e e
3 0{HIE ®1 inch 0.008 | I 41,600 332 - - | 41,600 gap WS DEB NSRS lUERane) P
2ED)| 25kw 0.400 | hr 9,122 3,648 34,803 13,921 3,287 1,294 47,162 18,863 |22/ SEBNEESABA SR P.740
goea 2.5ton 0.400 | hr 6,846 2,738 48,741 19,496 | 6,169 | 2,467 61,756 24,701 | e I8 PL746
P K=l IEHE 3% 1 A 2,592 2,592 - - 2,592 2,502 |20244 AL BAEESH(USALES]) P.746
A H (ZxH) 9,310 119,839 3,774 132,923

g 2l 1,023,010 119,839 3,774 1,146,623

*'m'E EIh:] 1,146,623 | / 2m = 573,312




J| = CH It =
M = 4l L 24l 2 Hl 2 A
2E 7 > | o9l HI 22
=) = = = = = A (=l = A

*MMSE: IHEZ-'AH'S
20/ce 6 1o 438 437 438 437 | gtnal 2 B & 5 ~6510004526640.000000'

A 437 437
* RI2SE : 2™I|(25kw)-' A2V
2= 0.001W% S 4.3 | 1,71 7,357 1,711 7,357 [2024.09 HeHItA P.1451
SPVE=d FAHZO 24% 0.24| A 7,357 1,765 7,357 1,765
LB H2E A 11 @ 34,803 34,803 34,803 34,803 |H4sH

A 9,122 34,803 3,237 47,162
* RIBS H : §EZE={(2.5ton)-'Al2H'E
2= 0.001W% S 2.9 | 1,711 4,961 1,71 4,961 [2024.09 Heht2 P.1451
SPVE= FAHZ Ol 38% 0.38| A 4,961 1,885 4,961 1,885
SIEXSH AL 11 ¢ 48,741 48,741 48,741 48,741 |H5sH

A 6,846 48,741 6,169 61,756
* M4SH @ AUD|HSF A=AV S
LB H 2 M AL 0.208 | ¢l 167,059 34,803 167,059 34,803 |1LIIEAIZExAH0 H 23 X H 2==(1/8)x(16/12)x(25/20)
* RISSH : SISXUSFA-'AlIZ'Y
StEX2H A 0.208 | ¢! 233,960 48,741 233,960 48,741 [1LIIEAIZxA 01 2 4=xE Xl I 2==(1/8)x(16/12)x(25/20)
* L= QIED}
Sgo=L 2024.9.10|& 11 < - 219,321 219,321 219,321 219,321
20 2024.9.10|& 11 ¢ - 167,081 167,081 167,081 167,081
=HgE 2024.9.10|& 1 < - 212,500 212,500 212,500 212,500
LI H 2 A 2024.9.10|& 11 ¢ - 167,059 167,059 167,059 167,059
SIE2X2H A 2024.9.10|& 1 < - 233,960 233,960 233,960 233,960
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H

ZEEUEHABE
W2 L2y 2l g i
= A =8 d
o It = & It 2 o 2 o =3l
ZEHYDFHABY (H1100xW2000)& X Z A (L83t
Led 3 M20X250 EA 7,200 28,800 28,800
e DES ©165.2x4.5tx990 = 463,900 463,900 463,900
X = ©139.88 EA 6,900 6,900 6,900
PJELTEN 200x100x9t EA 52,600 52,600 52,600
JIESA OF2A 200x1002 set 6,500 6,500 6,500
wal 150x3.2tx4330 e} 164,000 164,000 164,000
3y ©38.1x1.5tx870 EA 26,500 265,000 265,000
LR ©38.18 EA 300 3,000 3,000
Y20 B/N 5/8x200 EA 2,300 2,300 2,300
HYADH B/N 5/8x25 EA 900 900 900
ez B/N 5/8x70 EA 900 1,800 1,800
23y D BN M8X60 EA 900 18,000 18,000
2 A (MBI 1,013,700 1,018,700
EPNE Swols o 219,321 32,020 32,020 Sam s oo
: CEE o 167,081 48,787 48,787 oo Mo EE
2| 25kw hr 9,122 3,037 34,803 11,589 1,077 15,703 o ma anE
gmes 2 5ton hr 6,846 2,279 48,741 16,230 2,054 20,563 Al
M= el Z ol 3% Al 2,424 2,424 2.424 55}52;%%%‘(&@
A H (&) 7,740 108,626 3,131 119,497
g 3l 1,021,440 108,626 3,131 1,183,197
‘m'g =t 1,133,197 | / 2m = 566,599




T & g
= 7 > LI
e Ot o 2 o © O 3 o 3 o
DRI (25kw)-"Al2HY
0.001W% S 4.3 1,711 7,357 7,357 |2024.09 2Kt P.1451
Tl 24% 0.24 7,357 1,765 1,765
N 1 34,803 34,803 |H3EE
2 9,122 34,803 3,237 47,162
& ZE2(2.5ton)-'Al2HE
0.001W% S 2.9 1,711 4,961 4,961 |2024.09 eIt P.1451
FO20| 38% 0.38 4,961 1,885 1,885
N 1 48,741 48,741 |M4zE
3 6,846 48,741 6,169 61,756
H o B2 A= AR Y
At 0.208 34,803 34,803 |1LIIEAlIZxa 0 o 2=x 3 X1 H 2==(1/8)x(16/12)x(25/20)
SASNSTA-AIRMY
A 0.208 48,741 48,741 | 12LIIE A& O Al 5=x5 K Al 4==(1/8)x(16/12)x(25/20)
2024.9.171F 1 - 219,321 219,321
2024.9.171 % 1 - 167,081 167,081
At 2024.9.101% 1 - 167,059 167,059
+ 2024.9.101% 1 - 233,960 233,960




